

4. USE OF LED BULBS/ POWER EFFICIENT EQUIPMENT

Kumaraguru institutions have implemented the use of LED bulbs for all streetlights. There are around 230 streetlights inside the campus. As an energy conservation initiative, conversion of **80 watts Compact Fluorescent Lamp (CFL) into 30 watts** Light Emitting Diode Bulbs (totally 224 such Bulbs) , thirty six number of 40 Watts and twenty nine LED bulbs of 30 Watt and 17Watt were installed in the campus.

Apart from this, in hostels, **2098** tube lights of 40 Watt are replaced by 16-, 18- or 20-Watt LED bulbs. LED bulbs are also fitted in buildings that were renovated or built after 2017.

REPORT ON ENERGY SAVING IN THE STREET LIGHT AREA

(Replacement of 65 w CFL to 30 w,40w,17w LED street lights)

			EXISTIN	NG LIGHT-					
			(CFL	NEW LI	GHT LED			
					LED				
SL.N		QT	WATT	TOTAL	WATT	TOTAL			
О	РО	Y	S	WATTS	S	WATTS			
1	PO1718 00509 (DT-13.Jul.2017)	11	65	715	40	440			
2	PO171800107 (DT-18-APR-2017)	7	65	455	40	280			
	PO1819/NA1167 (DT-12.DEC-								
3	2018)	50	65	3250	30	1500			
4	PO1920/IN0397 (DT-21-SEP-2019)	159	65	10335	30	4770			
5	PO1920/IN0453 (DT-17.OCT.2019)	13	65	845	17	221			
	PO2021/IN0241 (DT-								
6	31.OCT.2020)	10	65	650	40	400			
7	PO2021/IN0440 (DT-16.FEb.2021)	25	65	1625	17	425			
8	PO2021/IN0440 (DT-16.FEb.2021)	20	65	1300	17	340			
	TOTAL KW	295		19.175		8.376			
						10.80Wat			
	Total Energy Saved Per Hour								

REPORT ON ENERGY SAVING IN THE HOSTEL AREA

(Replacement of 40 w Tube light into 16,18w LED tube lights)

			EXISTING LIGHT-CFL		NEW	LIGHT LED
				TOTAL	LED	
SL.NO	PO	QTY	WATTS	WATTS	WATTS	TOTAL WATTS
1	PO161700370	330	40	13200	18	5940
2	PO161701272	80	40	3200	18	1440
3	PO161702075	280	40	11200	16	4480
4	PO171801226	1358	40	54320	16	21728
5	PO2021/IN0440	50	40	2000	20	1000
Т	OTAL KW	2098		83.92		34.588
			Total	Energy saved	l Per hour	49.33 Watt

Link For the Bills for LED Purchase:



Led Bulbs Bills.pdf

Sri Raghavendra Electricals' Duplicate Pink Triplicate Yellow 291-A, Bharathi Nagar, Marudhamalai Road, P.N.Pudur (PO) Coimbatore - 641 041. Tamilnadu, India. Mob: 90424 02424 GST IN: 3 3 D V H P K 9 6 5 4 K 1 Z O Sate Code: 33 State: TamilNadu INV No.: SRE / 2017-18 / Consignee M/s Komara Suru College of Technology Transportation Mode: General Stores) KCT Campus Chinguesan Vehicle No. Patty: Coimbatore- 49 Date of Supply Place of Supply State: AAATR 3640M Your P.O. No. & Date: POIT 1860507 113.7.17 Consignee GST IN: Total Value Rate Supply of Goods / Service Qtv CODE S.No. Rs. Single Arm L' Lighting 1) Pole 132mm dig. 4-5mm Ameter heigher with Pole 11 Nas 21, 500 CU 2,36,500 OC Invoice Value in words & figures 2,36,500 ba Sub Total three laxy two thoudand seven hundred CGST 147. 33110 Twenty Rugeer Coly-May 18/17 pest received IGST **NET TOTAL** Bank Details: For Sri Raghavendra Electricals **Bank Name** : Bank of Baroda : Sri Raghavendra Electricals Account Name Account Number: 40370200000196 / IFSC CODE: BARBOVADAVA Branch : Vadavalli, Coimbatore, TamilNadu. Buy 30/8/18

Electronic Reference No.



FORM JJ/DELIVERY NOTE



PERFECT ENGINEERING (MYSORE) WORKS

2/34, Sakthi Garden Main Road, Seneerkuppam, Chennai - 600 056.

TIN No.: 33331662684, C.S.T.NO.: 800537 dt.05.07.2004 Ph/ 9600=46640.

Chal	lan No	: 028	Asst Year : 2017 -	18	Date : 12/06/2017				
1	Name	and Address of th	e Consignee	Mr.Jayakumar 9360557062 Coimbatore (Mobile – 2013871783)					
	Ce	nsignee's Registra rtificate Number u AT Act 2006		LST No : n/a ow	n use				
2	(i)Fro	ulars of Place : m which the goods		Chennai, Tamil Nadu.					
	(ii)To	which the goods a	re consigned	Chennai, Tamil	Nadu.				
3. 9	.No.	Desc	ription	Quantity	Value of the Goods				
1. 2. 3.		40w LED bulb Polycabonate cov Black paint spray	er	18 numbers 54 nos 1 tin	Rs.15,500 (withour VAT)				
	4 5	PURPOSE OF TRA		Local sales BY SRM transp	orts (Door Delivery)				
	6	REMARKS		Nil ·					

We certify that to the best of our knowledge the particulars given are true, correct and complete.

Received the above goods in good order and condition

For PERFECT ENGG (MYSORE) WORKS

Name and Signature of the person to whom the goods were delivered / handed over.

Authorized Signatory

		Sri Rognavendra El 291-A, Bharathi Nagar, Marudhamalai Rog Coimbatore - 641 041. Tamilnad Mob: 90424 02424	ad, P.N.Pudur (F	PO)	Original Duplicate Triplicate Quadruplicate Date: 28	White Pink Yellow Green	F (4)
State	: TamilNadı	GST IN: 3 3 D V H P K 9 6 5 4	K 1 Z O - s	ate Code: 33	-	2017-18 / () () [3 🗸
State	it of l attage	Kumara Ary Concre of Tec Paranandha Adillalar Foundation Coim bodrae - 99 il Nady	a, China	Vedgry e Code: 33	Vehicle No. Date of Supply Place of Supply	lode its to a light of the state of the stat	67
S.No.	HSN CODE	Supply of Goods / Service	<u> </u>	Qty	Rațe		ue
1)		30W LEO Fitting With the	ressense	* · · · · · · · · · · · · · · · · · · ·	Rs. Political Po	L Joh et l	06
E&OE		• -	. ,	÷			
Invoi	ice Value in	words & figures	~ +ved]	Wall	Sub Total	88120	cv
۰۵۷ آپ	127	eight from and Seven hu	, ,	•	CGST 67	 	╅┈┤
Amo	unt of tax s	ubject to reverse charges			SGST 67	5289	00
قصعم د	Allla			Ì	IGST NET TOTAL /	198728	, , ,
Ban Ban Acco	k Details: k Name ount Nam ount Num	: Bank of Baroda e : Sri Raghavendra Electricals ber : 40370200000196 / IFSC CODE : BAI : Vadavalli, Coimbatore, TamilNadu.	and hand		For <i>Sri Ragh</i>	avendra Electrical	<u>-</u>
Ele	ctronic Re	eference No. (28) 128 W		nount mdicz	ited réprésents	the price actua	lly

13.2.19

•			291-A, Bharathi Nagar, Marudhamalai Road, P.N. Pudur P.O., Colmbatore - 641 041.	ALS	Dup Trip Qua			
			Call: 90424-02424		No.		032	
ļ		e : Tamil N	adu GST: 33DVHPK9654K1Z0 State C	ode 33	Date	26	12.19	
	DIVI	r of	Kumara gury College of Technolo Ramanandha Adigalar Fundation Wedam Patty Coimbatare-49	84	Transportation Vehicle No. Date of supp		de: : : 24.,2.	19
		e : Tamil N	Siale Of	ode 3 3	Place of sup	piy	:	•
	Consign	nee GST	33AAATR3640M1zey Your P.O. No. &	Date:	101920	lin	0397/21	9.1
	S. No.	HSN Ccda	Supply of Goods / Service	Qty.	Rate		Total value	· •
	j)		Ms Sheet Covity Powder		Rs.	P.	Rs.	P
7			Cogtins With Botts Nuts ond Wordner)	50 M	730	സ്	36,500	CO
	E. & O.E.							
	 -	Value in W	ords & Figures		0.1.7.1			<u> </u>
ļ	\$ow∙		re thou fix and Severey ony -	_	Sub Total CGST 9	- -	36,500	,
۲	Amount		eci to reverse charges		SGST 9			7
 ا-آ	ر الأرض (الأرض		· ·	f	IGST	- 	3285	
إ	Bank De		7101		Nett Total.		43070	01
	Bank Na	-	Bank of Baroda		for Sri Rag	_	endra Electrica	_
}	Account Account IFSC Branch	Number :	Sri Raghavendra Electricals 40370200000196 IFSC: BARBOVADAVA Vadavalli, Coimbatore, Tamil Nadu.			. •	Authorised signato	ry)
	Electroi	nic Refer	ence No.	,				
	Cor	iii ad ibat	88-ented		-6/1	<u> </u>	19 0	
	chai	nged and	the particulars given above are true and correct and the amour that there is now flow of additional consideration directly or ind	nt indicate irectly fro	d represent	s the	price actually	
								
			T - 7			المستر	· 1	

SUBJECT TO COIMBATORE JURISDICTION

This is a Computer Generaled Document

for Kumaraguru College of Technology

Authorised Signatory

State: Tamil Nadu State Code B 3 Placa of supply: Consignae GST 33 AAA TR 3640 M1 Z G Your P.O. No. & Date: Pol920 I N 039	19 (n129 +124.10.	19							
Consignee M/s Kumara gury College of Technology Transportation mode: 11071 OF Ramananetha Adigalan Frendation. Chinna vedam Patty, Coimbatore - 49 State: Tamil Nadu State Code B 3 Place of supply: Consignee GST 33 AAATR 3640 M1ZG Your P.O. No. & Date: Pol92011N039	n 129 124 10.	19							
11071 OF Ramananaha Adigalan Fandafion. Chinna Vedam Patty, Coimbatore - 49 State: Tamil Nadu State Code B 3 Placa of supply: Consignae GST 33 AAATR 3640 M1ZG Your P.O. No. & Date: Pol920 IN 039	7121.10.	19							
State: Tamil Nadu State Code B 3 Placa of supply: Consignae GST 33 AAA TR 3640 M1 Z G Your P.O. No. & Date: Pol920 I N 039	7121.10.	.19							
LICAL TO A STATE OF THE STATE O		19							
21031	ntai value								
S. No. HSN Supply of Goods / Service Qty. Rate Total value Rs. P. Rs. P.									
9940 30W LEO Fittings with									
59050 Accessories Brand-Orient 159 1,700 co 2,5	-0,300	വ							
erial chedred Element Light & (4)									
ederical cher Eleminia Light & (431 (9)									
EROE AND CC. ACADAC FOR									
Invoice Value in Words & Figures Sub Total 2,7	0,300	~							
three lakes Two thousas seven howed Thirty CGST by. 1	6218								
Amount of tax subject to reverse charges	5218	20							
Nett Total 3.8		$\frac{1}{L}$							
Bank Details for Sri Raghavendra	2,736,								
Bank Name : Bank of Baroda Account Name : Sri Raghavendra Electricals Account Number : 40370200000196 IFSC : IFSC : BARBOVADAVA Branch : Vadavalli, Coimbatore, Tamil Nadu.	rised signator	ry)							
Electronic Reference No. Fer Street Light Fitting	-, ·								
Certified that the particulars given above are true and correct and the amount indicated represents the price changed and that there is now flow of additional consideration directly or indirectly from the buyer.	actually								
Prepared by Verified by Authorized Signatory									

SUBJECT TO COIMBATORE JURISDICTION 23 This is a Computer Generated Document

23-Nov-2019 596 Surabhi Nursery Premises, Gold Wins Avinashi Road. AC-135 Delivery Note Mode/Terms of Paymo Coimbatore 14 GSTIN/UIN: 33AALCA9964F1ZD Slate Name: Tamil Nadu, Code: 33 F-Mall: Info@anoora.in Supplier's Ref. Other Reference(s) Buyer's Order No. V PO1920/IN0453 Dated 17-Oct-2019 🗸 🖍 Buyer KUMARAGURU COLLEGE OF TECHNOLOGY Despatch Document No. Delivery Note Date Unit of Ramanandha Adigalar Foundation Chinnavedampatty Desputched through Destination Coimbatore - 49 INFRA ELECTRICAL GSTIN/UIN : 33AAATR3640M1ZG State Name : Tamil Nadu, Code: 33 Terms of Delivery 3. I WITTE JAPANA Description of Goods Quantity = 5 Rules of per - Amount saughout the affluant 1 KL-5088 PRINCE MIDI LEDIE27 HOLDER . 13 Nos 2,765.00 .Nos 94051090 13 Nos 2,765.00 Nos 94054090 3 13 Nos 281.00 Nos 2 PHILLIPS 17W LED BULB/E27 HOLDER OUTPUT CGST@6% 2,375,88 OUTPUT SGST@6% Round Off we fall for whom the will it · [1] 1. 2 * 从本地的中心中是 mer from Land Still replicable for the Amount Chargeable (in words) Forty Four Thousand Three Hundred Fifty INR Only HSN/SAC Contral Tax Taxable State Tax Value Rate Amount Rate Amount. Tax Amount 94051090 35,945.00 6% 2,156.70 6% 2.155.70 4,313.40 94054090 219.18 219,18 438.36 39,598.00 ax Amount (in words): Certification เพื่อว No of Silis We declare that this invoice shows the actual price of the Approved By§ ya beilire! goods described and that all particulars are true and correct. This is a Computer Generaled Invoice. (Forly flow hours ad 119 ree mound

Tax.Invoice

Invoice No

Dated

Anoora Energy Concepts Pvt Ltd

ABIRAM SOLUTIONS

55B, Themaiyan 2nd Street, Kavundampalayam, Colmbatore - 641 030. Ph. 98431 90403, 95666 10403, Email: abiramesh923@gmail.com

CST INVOICE

No. 552

Date 19/11) 2020

To Kumanaguru college of Technology

Coumbactore

Pozozi linozui

<u>Рододі і інодді</u>

Buyer GSTIN No. 33 AAATR 3640 MIZG

DC. No. 134 137 Date 10/11 19/11

GSTIN No. 33BHFPR8861M1ZN.

S:No	HSN Code	Particulars:	Qty	Rate	Amount
1.	94054090	Philips Street light 3600	10	3030	<i>303</i> 00
ري	<i>I</i> 1 ·	Philps 2000 tube light			· -
Ì		Philips Street light 36w Philips 20w tube light Slim line nxt	10	245	2450
			÷		32750
		<i>F</i>			
			. :		
		s Ça			
	•	. •		' 	
)			i. Ir		
John 6	2 10% 2 7 7	I-D Value @ 100 .			÷
	9 12%: <i>3Q</i> 7	a Maria a	CGST-		1965
Tax Analysis	CGST@	TEM S.No. 6% ITEM S.No. 9%	SGST	,	7703
ж Ап	SGST @	1965			r
12	IGST @		TOTAL		36680

Amount in Words. This by Six Houseard Six hundred and eighty only.

Terms & Conditions

1. Goods once sold cannot be taken back-

2. Subject to Combatore jurisdiction only.

for **ABIRAM SOLUTIONS**

Authorised Signatory

N

This is a Computer Generated Document

1

Tax Invoice

NIVI ELECTRICALS 29,30, KANAKKAL STREET K.K.PUDUR COIMBATORE - 641 038.

GS7IN/UIN: 33ALHPK2272N1ZX State Name: Tamil Nadu, Code: 33 E-Mail: nivielectricals2001@gmail.com

Buyer

Kumaraguru College of Technology

Chinnavedampatty Coimbatore - 641049

GSTIN/UIN State Name

33AAATR3640M1ZG : Tamil Nadu, Code: 33

Invoice No.	Dated
502/20-21	6-Mar-2021
Delivery Note	Mode/Terms of Payment
Supplier's Ref.	Other Reference(s)
Buyer's Order No.	Dated
PO2021/IN0440	16-Feb-2021
Despatch Document No.	Delivery Note Date
Despatched through	Destination

Terms of Delivery

SI No.	Description of Goods	HSN/SAC	GST Rate	Quantity	Rate	per	Disc. %	Amount
1 2	Philips Led 17w E27 White Ceiling Rose	8539 8536	12 % 18 %	2 Nos 50 Nos	258.00 17.00			516.00 850.00
	CGST SGST Round Off							1,366.00 107.46 107.46 0.08
				**				•
	Total punt Chargeable (in words)			52 Nos				₹ 1,581.00

INR One Thousand Five Hundred Eighty One Only

HSN/SAC	Taxable		ntral Tax	WHO 377	AHOMI ate Tax	Total O
8539	Value	Rate	Amount	Rate	A	Tax Amount
8536	516.00 850.00		30.96 76.50	6% 9%	. 30.96 76.50	61.92
Toy Amount (in	tal 1,366.00		107.46	0,0	107.46	214,92 214,92

Tax Amount (in words): INR Two Hundred Fourteen and Ninety Two paise Only

Company's PAN

: ALHPK2272N

Declaration We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct. Company's Bank Details qA
Rank Name
UNION BANK OF INDIA - CC A/C

502605040500165

Branch & IFS Code: R.S.Puram & UBIN05

secked By

This is a Computer Generated Invoice

R. No! - 607/613121

NIVI ELECTRICALS 29,30, KANAKKAL STREET	Invoice No. e-Way Bill N 489/20-21	
K.K.P.IDUR CGI BATORE - 641 038. QS: N/UIN: 33ALHPK2272N1ZX	Delivery Note	24-Feb-2021 Mode/Terms of Payment
S_te Name : Tamil Nadu, Code : 33 E-Mail : nivielectricals2001@gmail.com Buyer	Supplier's Ref.	Other Reference(s)
Kumaraguru College of Technology Chinnavedampatty	Buyer's Order No. PO2021/IN0440	Dated 16-Feb-2021
Coimbatore - 641049 GSTIN/UIN : 33AAATR3640M17G	Despatch Document No.	Delivery Note Date
State Name : Tamil Nadu, Code : 33	Despatched through	Destination
	Terms of Delivery	(4) /

SI No.	Description of Goods and Services	HSN/SAC	GST	Quantity	Rate	per	Disc. %	Amount
1	Philips Led 4w B22 Cool White	8539	12 %					
2	Philips Led 9w B22 Cool White	8539	12 %		80.00			4,000.00
3	Philips Led 17w B22 Cool White	8539	12 %	00 1100	80.00			4,000.00
4	Philips Led 4w E27 Cool White	8539		=01.03	247.00	U 600 00 15 15 15 15 15 15 15 15 15 15 15 15 15		6,175.00
5	Philips Led 9w E27 Cool White	8539	12 %	10 1403	88.00			1,320.00
6	Philips Led 17w E27 White	8539	12 %	00.103	99.00	BEAR STORY		2,970.00
7	Philips Led Tube Glass 20w 4FT CW	8539	12 %	10 1403	258.00			4,644.00
8	Holder E27 to B22 Convertor	8536	12 %		210.00	Nos		10,500.00
9	Holder B22 to E27 Convertor	8536	18 %	-01103	40.00	Nos		800.00
10	Philips HF-S 3/414 (4x14w) TL5 Choke	0036	18 %		40.00	Nos		800.00
11	Hackshaw Blade Double Side		18 %	00 1103	598.50	Nos		17,955.00
12	CRC - 226 Contact Cleaner	3917	18 %	20 Nos	15.00	Nos		300.00
13	Mk-W26405BNA Bell Push with Indicator	8536	18 %	3 Nos	260.00	Nos		780.00
14	Vasavi - 1" Pvc Pipe Royal 2mm		18 %		76.80	Nos		
15	Vasavi - 3/4 Pvc Pipe 2mm Royal	3917	18 %	100.00 LUI	107.50	Lth		768.00
16	Vasavi 1" Pvc Bend - (Heavy)	3917	18 %	100.00 Lth	76.35	Lth		10,750.00
17	Vasavi - 3/4 Pvc Bend (Heavy)	3917	18 %	100 Nos	11.00			7,635.00
18	MRF Submersible Tape	3917	18 %	100 Nos	7.90	Nos		1,100.00
	Cabinerable rape	4005	18 %		330.00	Kgs		790.00
9	Finolex 0.5Sqmm x 2C 1100v Indu	A SHOW THE		(3,000.000 Gms)	7			990.00
	Flexi Cable	8544	18 %	200.00 Mtr	13.70	Mtr		2,740.00
0	Vasavi 3/4 Pvc Elbow			(2.00 Coil)	Terminal Control		The last	
1	Vasavi 3/4 Pvc Tee	3917	18 %	50 Nos	3.00	Nos		450.00
Yaki ke	Hackshaw Frame	3917	18 %	30 Nos	1	Nos		150.00
3	Gm Calling Bell	8208	18 %	2 Nos		Nos		120.00
	om oaning bell	8531	18 %	5 Nos		Nos		390.00
						1405		608.00
1	Freight Outward18%	0067						80,285.00
1	CGST	9907	18 %					400.00
	SGST							6 25 7 20
-	Round Off		-,	-	150 Ph 15	-3 2	AL!) F 16,253.38
+			341		-KCT	-	1000	CPERICATION N
	unt Chargeable (in words)				B.1	-	- 0	₹ 93,192.00

INR Ninety Three Thousand One Hundred Ninety Two Only

Company's PAN

: ALHPK2272N

Company's Bank Details Bank Name : UN Bank Name : UNION BANK OF INDIA - CC A/C A/C No. : 502605040500165
Branch & IFS Code : R.S. Puram & UBIN0550264 VB

Declaration
We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct. Declaration

Checked B

This is a Computer Generated Invoice

Rishabh Corporation

Unit of Rishabh Cables and Electricals P Ltd No.319-A & 319-B Nehru Street No.2 Peelamedu, Coimbatore

Phone No: 7708127861, 7708017222

Kumaraguru College of Technology (General Stores)

Chineral Stores KOT Campus, Chinnavedampatty Coimbatore-641 049 Ph.No:0422-2387460 Invoice No. PL-370/16-17 Delivery Note

15-Jun-2016

Mode/Terms of Payment

Buyer's Order No.

Dated

Dated

PO NO:PO161700370 Dt:1.6.16 15-Jun-2016 Despatch Document No.

Dated

Despatched through

Destination

Terms of Delivery

Si No.	Description of Goods	<u> </u>	VAT %	Quantity ,	Rate	per	Amount
1	18W Essential LED Tube	. • 1	. 5	330 Nos	690.00	Nos	2,27,700.00
1		Vat 5%	;	. !	5	%	11,385.00
	•			1	.]		
	Pront	•		· · · · · · · · · · · · · · · · · · ·	, , ,	1	
	10 aver bouse checked by		F.,	i			
	Power house checked by Signiful Sidolule Signiful Sidolule Signiful Sidolule Sidol	. :				. 1	
Amo	ount Chargeable (in words)	Total		330 Nos	• }	-	2,39,085.00

iargeable (in words)

INR Two Lakh Thirty Nine Thousand Eighty Five Only

VAT Amount (in words)

INR Eleven Thousand Three Hundred Eighty Five Only (₹ 11, **`**5.00)

E. & O.E VAT % Assessable Value VAT Amount 5 % 2,27,700.00 11,385.00

Company's VAT TIN

33361782026

Company's CST No. Declaration

: 269035

We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct.

for Rishabh Corporation

orised Signatory

ece (R/110

INVOICE Original - Buyer's Copy Invoice No. NCE AGENCIES(01/04/2015 to 31.03.2017) Dated Room: 964, Avanashi Road, Coimbatore -641018 91443 21-Oct-2016 15, Cherian Road, Coimbatore - 641009 Delivery Note Mode/Terms of Payment wn:16 Cox Street Coimbatore 641009 No: 0422 2303476, 4204384 Supplier's Ref. Other Reference(s) No : AB DPK 0398 M Mail : reliance.10@gmail.com Buyer's Order No. Dated PO161701272 Kumaraguru College of Technology 4-Oct-2016 Despatch Document No. Post Box No: 23034, **Delivery Note Date** Chinnavedapatti Post, Coimbatore - 641049 Despatched through Destination Ph:2669401-04 Mr. Palanisamy Terms of Delivery

SI No.	Description of Goods	Quantity	Rate	per	Amount
1	LED Tube 18w/1600 Lum 4ft Philips Make	80 nos	480.00	поѕ	38,400.00
	OUTPUT VAT 5%				1,920.00
	<u> </u>	p.,			
	•				
	Total	80 nos			₹ 40,320.00

Amount Chargeable (in words)

Rupee Forty Thousand Three Hundred Twenty Only

E. & O.E

Company's VAT TIN Company's CST No. : 33722141892

: 669146 dt 10/4/2000

for RELIANCE AGENCIES (01/04/2015 to

Declaration TAX INVOINCE

This is a Computer Generated Invoice



ABIRAM SOLUTIONS

FINVOIGE

55B, Themaiyan 2nd Street, Kavundampalayam, Coimbatore - 641 030. **Ph**. 98431 90403, 95666 10403.

Email: abiramesh923@gmail.com

No. 077

Date 02.03.2017

To Mls Kumaraguru college of techno Coimbatore

P0161702075

DC. No. 193... Date. 01/03....

TIN No. 33226324225.

CST No. 1172051 dt: 07.07.2015

S.No	Particulars	Qty	Rate	Amount
1.	LED 16W Tube light	2%ე იე	345	96,600
,				
		Pre		
	1			
		,	i.	
 ⟨\` ਮੌ	1013			
		V	N @5%.	4,8,30
1	3/15/15		TOTAL	1,01,430

Amount in Words. One lakh one thous and Four hundred and thirty only.

for ABIRAM SOLUTIONS

Terms & Conditions

1. Goods once sold cannot be taken back.

2. Subject to Coimbatore jurisdiction only.

Lease 180.

Authorised Signatory

SUBJECT TO COIMBATORE JURISDICTION

- 1



ABIRAM SOLUTIONS

55B, Themaiyan 2nd Street, Kavundampalayam, Coimbatore - 641 030. Ph. 98431 90403, 95666 10403.

Email: abiramesh923@gmail.com

No.

No. 029
Date 01/11/2017

Burrelayer (611000

Buyer GSTIN No. 33 MAM 1236400126.

DC. No. 323, 324, Date 1/11/2017

GSTIN No. 33BHFPR8861M1ZN.

S.No	HSN Code	Particulars	Qty	Rate	Amount
)	94051090	Ace Sover Philips 1600 Tube Fitting	1358	240	3,66,660
	,		-		
			SGST (@ <i>64</i> 	24,4995 24,9995 4,10,659

for abiram solutions

Terms & Conditions

1. Goods once sold cannot be taken back.

2. Subject to Coimbatore jurisdiction only.

Authorised Signatory

SUBJECT TO COIMBATORE JURISDICTION Shis is a Computer Generated Document

Tax Invoice

POYT BILL TILL (ORIGINAL FOR RECIPIENT)

NIVI ELECTRICALS 29,30, KANAKKAL STREET K.K.P.MOUR	Invoice No. e-Way Bill N 489/20-21	0. Dated 24-Feb-2021		
CO BATORE - 641 038.	Delivery Note	Mode/Terms of Payment		
Sizte Name : Tamil Nadu, Code : 33 E-Mail : nivielectricals2001@gmail.com	Supplier's Ref.	Other Reference(s)		
Buyer	Buyer's Order No.	Dated 16-Feb-2021		
Kumaraguru College of Technology Chinnavedampatty	PO2021/IN0440			
Coimbatore - 641049 GSTIN/UIN : 33AAATR3640M1ZG	Despatch Document No.	Delivery Note Date		
State Name : Tamil Nadu, Code : 33	Despatched through	Destination		
	Terms of Delivery			

SI No.		HSN/SAC	GST	Quantity	Rate	per	Disc. %	Amount
1	Philips Led 4w B22 Cool White	8539	12 %	50 Nos	80.00	Nos		
2	Philips Led 9w B22 Cool White	8539	12 %		80.00	STATE OF THE STATE		4,000.00
3	Philips Led 17w B22 Cool White	8539	12 %	25 Nos	247.00			4,000.00
1	Philips Led 4w E27 Cool White	8539	12 %	mo 1100	88.00			6,175.00
,	Philips Led 9w E27 Cool White	8539	12 %	10 1103	99.00		E Miles	1,320.00
;	Philips Led 17w E27 White	8539	12 %	00 1103				2,970.00
THE REAL PROPERTY.	Philips Led Tube Glass 20w 4FT CW	8539	12 %		258.00			4,644.00
1	Holder E27 to B22 Convertor	8536	18 %	00 1100	210.00			10,500.00
)	Holder B22 to E27 Convertor	8536	18 %	20 1103	40.00	Nos		800.00
0	Philips HF-S 3/414 (4x14w) TL5 Choke	8539	18 %	201103	40.00	Nos		800.00
1	Hackshaw Blade Double Side	3917	18 %	00 1103	598.50	Nos		17,955.00
2	CRC - 226 Contact Cleaner	8536	18 %	20 1103	15.00	Nos		300.00
3	Mk-W26405BNA Bell Push with Indicator	8536		0 1100	260.00	Nos		780.00
4	Vasavi - 1" Pvc Pipe Royal 2mm	3917	18 %		76.80	SCHOOL STATE		768.00
5	Vasavi - 3/4 Pvc Pipe 2mm Royal	3917	18 %		107.50	Lth		10,750.00
6	Vasavi 1" Pvc Bend - (Heavy)	3917	18 %	100.00 Lui	76.35	Lth		7,635.00
7	Vasavi - 3/4 Pvc Bend (Heavy)	3917	18 %	100 Nos	11.00	Nos		1,100.00
3	MRF Submersible Tape		18 %	100 Nos	7.90	Nos		790.00
1		4005	18 %	3.000 Kgs (3,000.000 Gms)	330.00	Kgs		990.00
	Finolex 0.5Sqmm x 2C 1100v Indu Flexi Cable	8544	18 %	200.00 Mtr	13.70	Mtr		2,740.00
)	Vasavi 3/4 Pvc Elbow	3917	40.04	(2.00 Coil)	100			
	Vasavi 3/4 Pvc Tee	3917	18 %	50 Nos		Nos		150.00
2	Hackshaw Frame	8208	18 %	30 Nos	4.00	Nos		120.00
	Gm Calling Bell		18 %	2 Nos	195.00	Nos		390.00
		8531	18 %	5 Nos	121.60	Nos		608.00
	Freight Outward18%	0067	40.01					80,285.00
	CGST	3307	18 %					400.00
-	SGST					Manuscript on		6,253.38
-	Round Off Total				KCT.	3	AHO	A 16,253.38
10	unt Chargeable (in words)						0	93,192.00

Company's PAN

INR Ninety Three Thousand One Hundred Ninety Two Only

: ALHPK2272N

Company's Bank Details

Bank Name : UNION BANK OF INDIA - CC A/C A/C No. : 502605040500165
Branch & IFS Code : R.S. Puram & UBIN0550264

Bank Name

efile 854

Declaration
We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct.

This is a Computer Generated Invoice

R. NO: - 601/4/3/21